2 TERKEFE

(1) FHEoM=
THAKEFEIFNHETD 1 FEOHRL T, LEMAMA~DIHEKEIT> TV D,
COTEMKEREZEIZ, BF5 746 A0S EHIR EHBEBEAESAFHTEMAKE LTHAKLT

Wb D&, Rk 344 HICH BTN RN S gk OB R L Z T EELZIT>TWVWEHLDOTH D,
BAEOBRKENIZL, 000m? / HT, 4FE£ATICR L, FMBREKET 7Tm?*Z2HKL WD,

(2) RRERIL
7 BRI OB
TERKEFEORFIIZ1LI 1EHETH, BFEHIZ1I0ATHEZ2->TEBY, ZO/RER, &%
WXHENT06. 9%&ERD, AIFENSL 1. 24K M LTV,
I BREISICERFZEZ M2 2T 1 1 HE A BREERICENREE LN -RE R,
10HETHERSTEY, ZOME, BINELERIZ1I06. 9%ER>TN5D,
A4 BRI OB
TERKEFEOEARP T 1 0B HHT, BIFEEICHET 0EHHEML WD, Tk,

BEREBEHIZETLHNTWD,
BRI OMIFEIT, N Ee CHEEMERERESEZD1 0/ T ER->TN5D,

— 125 —



F1F TEAKEFEOHEENRNOHEL

(BN . B, %, A)
FOE o FITAR B R
20 21 22 23 24 b-a (c/a)
H A a b c| X100
& Iz i A 11 11 11 1 11 AO A28
S " I pa 11 11 11 11 11 AO A238
o I 4% C 11 11 11 11 11 0 A23
5% B 4 I A 11 11 11 11 11 0 A28
265 Rt L H IS D 0 0 0 0 0 0 —
K il Fl A 0 0 0 0 0 0 —
e 2 H B 10 10 11 10 10 0 A17
& " # H F 10 10 11 10 10 0 A7
wooOX H M 10 10 11 10 10 0 Al7
2L ik B fa 5 # 0 0 0 0 0 0 —
/2N N | B SN 0 0 0 0 0 0 —
K 7l 8 ES 0 0 0 0 0 0 —
o H #H o 1 1 1 1 1 AO| A159
& H Fl A 1 1 1 1 1 A0l A159
& 4 3| ES G 0 0 0 0 0 0 —
foli i\ ey 1 1 1 1 1 A0l A159
i Al A 1 1 1 1 1 Aol A159
fili 3| US 0 0 0 0 0 0 —
2OEH X #B £ H 0 0 0 0 0 0 —
N B f& % I 0 0 0 0 0 0 —
W I X W ZEB/F 1083 105.9 104.8 108.1 106.9 A2 —
oI 3 K AR 108.3 105.9 104.8 108.1 106.9 A2 —
BB 2% & H O K R G/(C-D) 0.0 0.0 0.0 0.0 0.0 0.0 —
a:ﬁﬁf 2ORE K 4B 4 e H/(C-D) 0.0 0.0 0.0 0.0 0.0 0.0 —
l N B & %tk E1/(CD) 0.0 0.0 0.0 00 0.0 0.0 —
i BB ES b J 1 1 1 1 1 0 0.0
REERLEACT-FEK K 0 0 0 0 0 0 —
RS EATOREK L 0 0 0 0 0 0 —
NREBLZHTHHEER M 0 0 0 0 0 0 —
f%$¥%(éﬁﬁ%%iut$¥ﬁlvj 0.0 0.0 0.0 0.0 0.0 0.0 —
2R D | mEe e AT e R L] 0.0 0.0 0.0 0.0 0.0 0.0 —
e FEMEEEToRER M/] 0.0 0.0 0.0 0.0 0.0 0.0 —
i = % 0 0 0 0 0 0 —
() FREB=MEHHAM— (REVEE — BEE~R B Sh 2 o MIF Y 4E)

— 126 —



ok

THAKEFEOEARISIROHER

(HAZ : B, %)

OB K RITAR FE b

20 21 22 23 24 b-a (c/a)

H H a b c| X100

Je [ 4'g B # 4 0 0 0 10 10 i

e x w o wow @ 0 0 0 0 0 0 _

) IHLERW BB DIZDDHD 0 0 0 0 0 0 —

i%ﬁ ) ftt 0 0 0 0 0 0 —

it 4 0 0 0 10 10 B

M B ‘" & 4 0 0 0 10 10 B

45 il & & 0 0 0 0 0 0 —

Eil 1 * & 0 0 0 0 0 0 —

HHLERY BB DTDOLD 0 0 0 0 0 0 —

L§$m = B OH &' & 0 0 0 0 0 0 —

iﬂﬁ%% G = B = S 0 0 0 0 0 0 —

Mol = ##H £ AN & 0 0 0 0 0 0 —

%fm ES R I B 0 0 0 0 0 0 —

N I I Bowom & 0 0 0 0 0 0 —

Mol E M (A) 0 0 0 0 0 0 —

it 4 0 0 0 10 10 i

i) Js N & #H 0 0 0 0 0 0 —
s Y ——

/iﬁézﬂgmiﬁyﬁfyag 0 0 0 0 0 0 —

F HE M K O£~ 2 # 0 0 0 0 0 0 —

() 1 ;

i
R =

AR A —

(PIERE & + U IR AN 2 4H)

— 127 —

=T ASHRA 3HE — NI 2 B OB T &+ [ R AL 4






